

**BOQ INTERIOR FURNISHING WORKS AT SBI, GUPTAKASHI BRANCH,
DISTRICT RUDRPARYAG, UTRAKHAND**

S.NO	DESCRIPTION	UNIT	QTY	RATE	AMOUNT
1.A	Gypsum False ceiling works				
	Item includes providing False Ceiling in plane, curve shape and design . Suspending system and frame work shall match layout of A.C. ducts / grills, electrical / fire protection wiring / fixtures, return air grills etc. Rate to include provision of extra frame work, necessary scaffolding needed due to layout of other utilities refered above and fixtures etc. (Measurement shall be taken of the plan area only nothing extra for cove design and verticle sections)				
	Providing and fixing Gypsum Board False Ceiling with INDIA GYPSUM ULTRA main ceiling sections at 1200 c/c and cross members at 450 c/c of INDIAN GYPSUM. The grid work to be suspended from ceiling with hangers at every 1200 c/c in both directions. The Frame work to be as per manufacturer's specifications. 12.5 mm thk. GYPBOARD to be screwred to the frame. The board to be finished with filling the tapered edges of the board with jointing compound and finishing with paper tape of INDIA GYPSUM. The ceiling to be finished with a top coat as per manufacturer's specification along with provision of all necessary cut outs for electrical / air conditioning grills and necessary frame work including cove and curve designs etc. complete to the satisfaction of Architect/ Bank's Engineer.	Sq.Mt.	40.00	1000.00	40000
1.B	Armstorng ceiling				
	Supply and installation of (Micro Perforated) Acoustical Mineral Fiber Ceiling Panels Optra RH 95 NRC 0.90 of size 600 X 600 X 15 mm, Sillhouette steel angle grid system of armstrong, main tee are dould web design roll formed from hot dipped galvanized steel with prepainted steel capping, Main Tees are 3600 X 38 mm long with Base Metal thickness of 0.38 mm, has cross Tee slots at 100 mm centres and suspension holes in the bulb conveniently located at every 52mm, suspended with CL 315 Clip with heavy duty plugs to be suspended with the ceiling. Cross Tee are 1200 X 28mm and 600 X 28 mm and 600 X 28 mm long. Lay visual appeal. Perimetre wall angle is 3000 X 24 X 24 mm with Base metal thickness of 0.45mm.	Sq.Mt.	80.00	1200.00	96000
1.C	LAMINATED FALSE CEILING	Sq.Mt.	80.00	1876.00	150080
1.D	COVE IN FALSE CEILING	Sq.Mt.	10.00	1000.00	10000
3	Laminate Full Height Partition				
	Providing & fixing Solid Full Height Partition with 45mm/70 mm GI sections (India Gypsum frame work) @ 600 mm c/c in both directions, (vertical member to be in one piece) and horizontal direction. 8mm thick BWP ply to be fixed on both sides of frame work, fixing 4mm thk MDF board fixed on both side including provision of grooves as per instructions. Finishing with both side 1.0mm thick laminate with grooves as per drawings/instructions . Finishing all wood surfaces with PU polish as per standard practices and specification complete. Item also includes providing and fixing 100mm wide skirting of 1mm thickness. Mettallic Laminate as per approved sample on exposed partition surface as per architectural drawings	Sq.Mt.	20.00	3500.00	70000
	Teak wood frame of size 50x75mm including making rebate for shutters,				

	Fixing 100mm high skirting of 1mm thk Metallic Laminate as per approved sample on exposed partition surface as per architectural drawings				
	Finishing all wood surfaces with Melamine finish as per standard practices and specification complete.				
	Note: All partition frame work shall be fixed to beam / slab soffit. Measurement shall be paid upto finished partition only.				
4	12 mm thick toughened glass partition				
	Providing & fixing 12mm thick toughend Fixed Glass Partition in front of cabins and also glass fixed with S.S. clamps on sides and top & S.S. u-channel in floor as per detail drgs. and complete to the atisfaction of Architect/ Bank's Engineer.	Sq.Mt.	10.00	5800.00	58000
5	12 mm thick toughened glass door				
	Providing & Fixing fully Glazed frame-less door made out of 12 mm thick toughened glass edge polished fixed with stainless steel patch fittings at top & bottom and floor springs and lock of ozone make . The door shall have the lock at bottom, and 600 mm length stainless steel brush finish handles of 25 mm dia complete.	Sq.Mt.	8.40	8000.00	67200
6	Low height partition (1200 mm high)	Sq.Mt.	15.45	3500.00	54075
	Providing & fixing Low Height Partition consisting of:				
	Providing and fixing partition out of 45mm/70mm GI sections (India Gypsum frame work) @ 600 mm c/c in both directions with 8 mm thk BWP ply board on both side				
	4mm thk MDF board over 8mm thick BWP ply board for groove				
	Finishing with both side 1mm thk laminate with grooves as per drawings / instructions .				
	Providing & fixing 80 x 25 teak wood profile over top of partition & side				
	Fixing 100mm high skirting of 1mm thk Mettalic Laminate as per approved sample on exposed partition surface as per architectural drawings				
	Fixing 100mm high skirting of 1mm thk Mettalic Laminate as per approved sample on exposed partition surface as per architectural drawings				
7	Laminate panelling works				
	Providing & fixing Panelling consisting of: Frame work with 45 x 25 mm GI sections @ 600 mm c/c in both directions				
	Facing with 8 mm thick BWP ply board well secured to frame work by means of screws and nails.	Sq.Mt.	210.00	2100.00	441000
	Finishing with 1.0 mm thick Laminate with grooves as per drawing and design.				
	Fixing 100mm high skirting of 1mm thickness Mettalic Laminate as per approved sample on exposed partition surface as per architectural drawings				

8	Providing and fixing Digital Glass Frosting Film (3M) for frosting as per design in all shapes including curve shapes etc. complete to the satisfaction of Architect/Bank's Engineer.	Sq.Mt	15.00	800.00	12000
9	Providing and fixing Roller Blinds (Vista Levelor/ MAC/ DACK) of approved shade, texture and fabric including all associated accessories etc. complete to the satisfaction of Architect/Bank's Engineer.	Sq.Mt	5.00	2000.00	10000
10	Providing & applying the walls, ceiling and elsewhere with Plastic Emulsion Paint (roller finish) after preparing the base by removing existing paint/ finish and applying 2-3 coats of birla white putty for making the surface plane & smooth and then applying 2 or more coats of plastic emulsion paint with final coat done with rollers as per manufacturer's specifications etc. complete to the satisfaction of Architect/Bank's Engineer.	Sq.Mt	200.0	250.0	50000
11	Providing & fixing Full/ Low Height Box Storage Cupboard 450mm deep with frame, all sides, shelves to be made with 19 mm thk. BWP ply and 6mm thk. BWP ply fixed at the back. The shutters to be made with 19mm thk. BWP ply. Shutters, top and sides finished with 1.0 mm thk. decorative texture laminate on all exposed surfaces. All edges to have 2mm thk. edge binding tapes as per details, all shutters to be made overlapping the frame and edges of shutters to have 2mm thk. edge binding tapes as per details including S.S. long handles, magnetic catchers, self closing hinges, locks (Hettich/Haffele) etc. The item includes polishing the wood surfaces with melamine polish and inside surfaces to have 0.8 mm thk white laminate finish etc. complete to the satisfaction of Architect / Bank's Engineer.	Sqm	8.25	6500.00	53625
14	Providing and placing Table as per drawing made of 19mm thick BWP ply. Table top to be of 25mm thick BWP ply finished with 1mm Laminate on top with side table unit. Table to be provided with storage cabinet with drawers made of 19mm thick BWP ply front side and back faces & drawer, bottom with 8mm thick BWP ply. The table to be provided platform for CPU trolley including Cable manager, locks, handles, telescopic slides for drawers, computer key board tray (hettich) with retractable mouse pad, mobile CPU trolley (ebco),etc. all complete to be satisfaction of Architect / Bank's Engineer. Table top to be cladded with 6 mm thick bendable corian. All interior to be finished with 0.8mm thk laminate. All exposed surface to be finished with 1 mm thick high gloss laminate as per specification to approved colour. Table finishes as per drawing. On customer side fascia of as per drawing. Hardware to be SS of HETTICH,HAFFLE make. Table & Side Table top to be fixed with 10 mm thick clear float glass, having beveled edges all complete.				

	<p>Each Table is to be provided with 400 mm wide Drawer unit having 3 drawers of equal sizes made of 12 mm thick BWP grade ply of approved make with atolocking push type locks and "C" type SS finish handles.</p> <p>Each Side Table is to be provided with 2 drawer unit (450 W x 150 H mm) at the top made of 12 mm thick BWP grade ply of approved make complete with multipurpose drawer locks and "C" type SS finish handles and 2 cupboard (450 W x 500 H mm) at bottom with telescopic sliding drawers with auto closing hinges for the shutters of the cupboards.</p> <p>Finishing :Fascia & Sides - 1 mm thick Glossy Laminate, Table Top & side table Top - 6mm thick bendable Corian Surface all included in rates. Table & Side Table top to be fixed with 10 mm thick clear float glass, having beveled edges.</p> <p>Manager Table (1650 mm x 750 mm x 750 mm) Side table (1050 mm x 450 mm x 450 mm)</p>	Nos	4.00	25000.00	100000
15	<p>Banking counter</p> <p>Providing and placing Banking Counters as per made of 19mm thick BWP ply. Table top to be made of 25mm thick BWP ply. Table to be provided with storage cabinet with auto lock drawers made of 19mm thick BWP ply front side and back faces & drawer bottom with 8mm BWP ply. First drawer to be provided with inner partitons made of 9mm thick BWP ply for currency(as per Bank's requirement). The table to be provided platform type of foot rest of size 450mm x 600mm. including auto locks, handles, telescopic slides for drawers, computer key board tray (tray with 250mm extension), with retractable mouse pad, etc. all complete to the satisfaction of Architect & Bank's Engineer. Table top to be cladded with 6 mm thick bendable corian in rounding pattern as per Bank's standard SWO design. All other exposed surface to be finished with 1 mm thick high gloss laminate as per specification to approved colour.All unexposed to be finished with 0.8mm thk laminate as per specifications. Table to have provision for cable manager etc complete. Item to include fixing of 12mm thk glass over the table top with SS hardware.</p> <p>Each SWO is to be provided with 400 mm wide Drawer unit having 3 drawers of equal sizes made of 12 mm thick BWP grade ply of approved make with atolocking push type locks and "C" type SS finish handles.</p> <p>Each Side Table is to be provided with 1 drawer unit (450 W x 150 H mm) at the top made of 12 mm thick BWP grade ply of approved make complete with multipurpose drawer locks and "C" type SS finish handles and one cupboard (450 W x 500 H mm) at bottom with telescopic sliding drawers with auto closing hinges for the shutters of the cupboards.</p>				
	<p>Finishing :Fascia & Sides - 1 mm thick Glossy Laminate, Table Top & side table Top - 6mm thick bendable Corian Surface all included in rates. Table & Side Table top to be fixed with 10 mm thick clear float glass, having beveled edges. Size : Table - 1500 mm x 825 mm x 750 mm, Side table - 900 mmx 600 mm x 750 mm</p>	RMT	6.00	2000.00	12000
17	<p>A.C.P. CLADDING :</p> <p>Proving and fixing in position Aluminium composite panel Boxing with PVDF coating & LDPE core laminated Eurobond / Altobond/ Alukbond Exterior Grade 4 mm thick with composite of (0.5mm - 3mm- 0.5mm) including fabrication for the same with aluminium sections, required hardware, silicon sealent (Dow Corning 789) masking tape, necessary scaffolding etc. complete in all respects.</p>	Sqm.	25.00	3750	93750

